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L EE
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oo A A S B (9] )
A - ARA - g (FA) - AFEAY - EA4 ] ggﬁ v F 7t
A3 A 3 4,387,807 2,533,311 1,854,496
A=A gR 254,991 200,366 54,625
A 2 117,444 94,686 22,758
A GA Y DA 97,476 94,686 2,790
101 174 19,968 0 19,968
10 NNALEA SRS 19,968 0 19,968
D AR (EA ) A2 2 9,984
D&EA Z94d A 9,984
201 YHHE-S3n] 77,508 94,686 A17,178
01 AHF#HE]H] 30,055 37,095 AT,040
1) Grr<-g-1] 24,575
2)A AT = 750
2)A A A -3 ) = 300
DIMAE LA 5 4% = 23,525
D39 980
D)AGA ZhEL A3 A ofu 1 70,0007 23] = 980
DE | 4,500
2)A G IA N ALk 5,000+59 %120 = 3,000




A A 58] 7 )
A AFA L T

ol AW A g S (9] 1)
BA - A - B (EA) - AR - BRE o2kl 5e SEEEs
2)7871% F-aen] 9 A EE 5,000x5T8 60 = 1,500
02 F&FH 47,453 57,591 ~10,138
DEFFeT L AA 23,750
DA A LA A - A5 (YR 250%60,00071 = 15,000
DABA LA A EF-HE(S7]) 1,750%5,00071 = 8,750
DA A H] 23,703
DA A BA| 228 -2 B4 A 2E18,625,000+ %A 2~ ¥1,500,000 = 10,125
2)ZAEZIE ] FA B 381,500«12Y = 4,578
DAFAFHAN7] B e A KA 600,000+12%Y = 7,200
2) A EE7] A ] 150,000%129 = 1,800
AA| Bl A EH A AL 19,968 0 19,968
101 91714 19,968 0 19,968
10 NAEEA SRS 19,968 0 19,968
DAGA R A DA A S A AL 19,968,000 = 19,968
Adel a&4 #e 34,337 28,405 5,932
A A Aol # A3} 34,337 28,405 5,932
201 Luk-3H] 34,337 28,405 5,932
01 AHF#E]H] 14,855 14,855 0
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ol Agle] a8A e (9] 1)
BA Q3 -GS (@A) - AR - BE R 5e H 257t

DEF 9 Aol A AN ER-E FeF 7Y 30%40,000m] = 1,200
DARA A=ZF344 £7<1 40,000+209}#~#33] = 2,400
DA FALAA F< 40,000+204}F 2 = 800
DARE A Zo] A& a4 A <l 60,000%301F2 = 1,800
DABA Ao Aegrg Z57t= A2t 40,000%15v] 23] = 1,200
DARA A2 ALkki 2 AT GAA] T+ 2,000+62071%23] = 2,480
D@=saptae) st suiid 8 250,000%43] = 1,000
Dol Ak AQ1m-& 60,000:5T] = 300
Do s xpe F2hu] 8- 19,000:5Th*5Y = 475
DA 9193] 334 1 70,0005 #23] = 700
a2 2,500

A GA 2 A Q)= M, Aol A A 5,000+298 %150 = 1,500

2)AEA A 4% g 5,000%278*100 = 1,000

02 F&&FH 19,482 13,550 5,932

DFFeT L AA 13,882

2) &A= As kA (1) 300,000+ 1th+23] = 600

2)A187t= ddr] By 66,000%23] = 132

)AL G TPIA R o] 8 TR 80#20,000A4] 2} = 1,600
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ol Agle] a8A e (9] )
BA R - D (@A) - AR - BAE 5e z
DAEIEAA] FE FrE 20,000,000%1.5% = 300
2)APGA QUEYL A= g o 50%5,00071 250
DAL TAAH R A8 F1 FA122]4] 10,000,000 10,000
)W EAFRAR B3 51,000,000 1,000
1)} wh] 5,600
2) 2o 40,000kn+1,400+0. 1 5,600
I} E ZA} 103,210 25,935
RS BN 103,210 25,935
101 Q171H] 12,800 12,800
10 NALEA SRS 12,800 12,800
D/NEFE7PA AL e 9 32,0001 #1674 %25 12,800
201 Y uke-<gn] 90,410 13,135
01 AHF#HE]H] 88,285 15,410
1) <81 84,010
)W EFE A7 ASTTR 6,930-9%16,50071 *50% 57,173
)N EFE 7L A A7 24 26,4009 #4083} 2= 1,056
2)NEFE 7 224 26,4009 403} >~ 1,056
2) /W EF R A A A 65,0009 #1559} >~ 975




A A 58] 7 )
A AFAL S
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BA] -3 - Bl (EA) - ARA - A SR R g
2)=WEA 40,0001 #7582 = 3,000
2)2H A A 20,0001 %30 -+50% = 300
2MER 15,0004 #30%-+50% = 225
2)x el 2k 20,0001 #205-+50% = 200
)P ARZ AT 50,0009 157 A~#23]#50% = 750
2)FHEAAE 10,00091%250 9 +50% = 1,250
2)Z2NEHZYHY] BEYg 550,000 %37} = 1,650
2)ZEI-HY] By 550,0009137) = 1,650
DENEZEHY] FUE 79 1,500,0009017H = 1,500
DENEZAHYTIEA T 600,000 <27} = 1,200
2D)ZAEIYE Y] ooJHE ¢ 500,000 +17) = 500
2)Z2AEIHUHY] FARZ 74 500,0004*17) = 500
)F AR ZHH | EY ] 357,50091%10 = 3,575
2)FAFAZARE USB 79 50,00091+27) = 100
2)ERY AAEHT] 28F T 1,350,000 *17) = 1,350
2)/pEFe AR = Az} 10,00091%6007 = 6,000
D&g+3 1,575
2)5-52719198 Ao 70,0001 %978 %531 +50% = 1,575
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D
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3,460,017
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250,000 #4032 #]
70,0009 #3,000 |
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30,000¢1+500°2 A]
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267,000
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4,000
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oA e (9] )
BA - A - B (EA) - AR - BRE o2kl 5e SEEEs

2)=afrARt QFF7 w2 5,00099*3+200 = 3,000

02 F&2FH 96,454 0 96,454
DEFeT 2 AA 96,254
2)H3 FAF M 76,126,000 1 = 76,126
DA AE WY FA 2,000,000 1 = 2,000
2) AT F A 17,440
AEET A 11,225,00091 = 11,225
DAAEE B A 6,215,000 %1 = 6,215
2)m At Sz F4 s7l 8w 1,72091%100%+43] = 638
D=afAM Sz duke s 2509 #200%5#43] = 200

401 A AR R H] 130,000 0 130,000

03 EAm§iH] 100,000 0 100,000
Detsa 1" B4 ) 100,000,000 = 100,000

04 AR 30,000 0 30,000
DA AR A8 5 30,000,000 170 2 = 30,000

2t 9 AFAEE 1,136,543 306,700 829,843

201 Luk-3H] 627,103 0 627,103

01 AHF#E]H] 104,100 0 104,100
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1Y RkE8H] 104,100
2)Fr 28,860

3) DA 30,00091#365YU 21 = 21,900

3)< A H] 30,00099%116Q 29 = 6,960

2)3] 1] 1,600
AT e 200,000 #87 = 1,600

2)5 & 5,900
3P A PFHF FZH] 5,00099*+3H #1704 = 2,550

3 AbeE A v w2 5,000 %9 %30 = 1,350
3EHIY T wjAn] 5,00090+47 1004 = 2,000

2)A A= 67,740
EFH FAAT LA S W] A FEHE A 500,000+ 1th+1 = 500
TFAEA N = 40,00091#25tx12¥ = 12,000
DIHEHE FAA]UU R 120,000 %12¢¥ = 1,440
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DEFET8E 9 AA 8,638
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24,00091+12¢Y

18,000 #5824 +6Y =
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7,000,000 1t =
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4,749,000« 1t} =
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3,028,000 «1t} =
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3) 712 A] W]

2)A8 71 AAR ] AR (2135)

3) A A2 ]

3)71 3421

2)7d 8k 1] (5305 )

30,000 x4 2#23]
60,0009 #4323

30,0009 «12¢

73,3469 x56=
7,3739%1,400&

43,001 #61=

73,3469 x1=

7,373 %1509}

20,000,000 +12]
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850,00091#12]
800,000%113]
39,0009 +9tH

1,080
240
480
360

17,055
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10,323
2,624
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74
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42,001
20,000
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850
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3) A A 1] 73,3469 +56%E = 4,108
3) 7] A A 7,37394%3,000HP = 22,119
3)AEF A 43,001 9#56%= = 2,409
DHT AT AAA TR 800,00091+13] = 800
3T A7 AAHAF )M 50,000,000 %14 = 50,000
&3] AANE ASH 39,0009)+8T) = 312
2)AF % A8k 29,550
3T HAFH (HA8) 50,0009 %1,55090%0.1 = 7,750
3T P2 (A8 30,0009)#1,55090%0.1 = 4,650
THsEat 20,0009%1,600¢%0.1 = 3,200
A&t 20,0009%1,55099%0.1 = 3,100
3SHHIA 35,00091%1,55091%0.1 = 5,425
eTagat 20,0009 1,550 0.1 = 3,100
=G Ak 15,0009 1,5509%0.1 = 2,325
2) 49701 (530%.) 116,408
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3) 3 109,200,0009)%6.6% = 7,208
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33k 1,55090%0. 1128] E]#150+4A] 741002 = 10,416
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301 ARbE = 4,440 0 4,440
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04 A]AH] 395,000 0 395,000
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D32l A (5434F) 50,000,000 +1tf = 50,000
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D)H7E AgFTrR 200,000 #43]«127] ¥4 = 9,600
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D)7 5,000,000+671 = 30,000
=R 251,000 5,400 245,600
201 A ¥h-edH] 158,000 4,400 153,600
01 AHF¥e] 4,400 4,400 0
DY<F& 4,400
)7 AEZ=AL 2~E]AH AF 1,000%2%+1,0007) = 2,000
2)=7148 50,0004 129 = 2,400
02 FFE 153,600 0 153,600
DA ] 153,600
2)¥4 A7) A HH] 150,000+56H]*12714 = 100,800
2) WA A (PC, 2B, 2 ) A B (7 A 4) 600,000, 000%8%+1.1 = 52,800
405 A2k 5] 93,000 1,000 92,000
01 AFLEF 93,000 1,000 92,000
2) 3%, 2 AHL T 93,000,000 = 93,000
A= 38,795 49,965 A11,170
201 A ¥h-edn] 38,795 47,865 29,070
01 AHF¥e] 36,295 45,365 A9,070
D¥kg 24,000
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2) 3| A5 20,000%500 = 10,000
)M G A 50, 0001605 8,000
2)3] Al 10,000%3%+200H 6,000
D3 4,000
2)AAA= 100, 0004202 273 4,000
1w 8,295
2) A1k 5,000%578 %210 5,250
2)3AGHF-F31 w2 ] 5,000%3v8+83Y 1,245
2)AArG 21 w2 n] 5,000+3% %120 1,800
TFEY 2,500 2,500 0
DEFE8H 2,500
2)3) Al 1,000,000 1,000
2)A A A 1,500%1,0007} 1,500
H] 2] 68,000 25,000 43,000
G310 68,000 25,000 43,000
01 7]1¥e% 33,000 0 33,000
D71#EY 33,000
) AFF 2,750,000+12¥ = 33,000
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2)= LAY F3 35,000,000 = 35,000
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2 9 o) 5,100 4,560 540
2.9 0] 74 H] 5,100 4,560 540
203 ¢H-#719) 5,100 4,560 540
04 FALAYTEF7n] 5,100 4,560 540
DA G Q0] 5,100
2)73 43010 &} 350,000%12¢¥ = 4,200
2)79302) =3} 5,000¢159 129 = 900
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73] 154,774 156,150 N1,376
201 Luk-3H] 24,234 25,610 ~1,376
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DA Al 2 544 8-gH] 24,234
2)7| &Y GAH-&F 500,000%12¢Y = 6,000
2)ZHHEUFY 357,500+8]+33] = 8,580
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D=arjedn] 130,540
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